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pulsorily draw diagonal cross lines on the remaining blank yages,
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-' 'Impottzant Note : 1. On eempleﬁngyeur answers, ch\

50, will be treet_ed as ma_lpraeti_ce'. - ' -  -

. 2.Any reVealing"of identification, appeal to evaluator and /or equations written eg, 42+8 -

o Illlllllll

Explam the followmg .
i) Origin, nature and anaet efOR - I

ii)  Defining the problem and gathermg the data. (10 Marks)
. A farmer has to plant two kinds of trees P and Q in a land ef 4000 Sq.m. area. Eaeh P tree
~ requires at least 25 sq.m and Q tree requires at least 40 sq.m. of land. The annual water
-- _requlrements of P tree is 30 units and of Q tree is 15 units per tree, while at most 3000 units
- ef water 1S avaﬂable It is alse estimated that the ratle of the number Q trees to the number of
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6 17

o P trees should net be Iess tha.n — and should not be more than —é— The return per tree frem

19
P is expected to be one and half times as mush as from Q tree.

'_-Fermulate the problem as aLP medel il 4 (10 Marks)

- ..'Solve the fellemng LPP by mmplex methed
MaXIIHIZG L = 3}{1 + 2}{2 | _ | I

B '.Sl.lb_]eCt tO X1 + X;_:' < 4 ._

i thﬁo T i—— aul s , . (10 Marks)

“Solve the fellomng LPP by szmplex method
- Maximize Z = 6x; + 8xz -

o ?_Subject to 2x; + 8% < 16

= m_f

22X +H4x 58

o Xux20  (10Marky
3 a Explam in detaﬂ the computer nnplementation ef s1mplex methed and avallable software
- option for linear programmmg | S - o Marks)

~ b. Explain the pest0pt1ma11ty analysis of linear programmmg o - ~ (05Marks)
I A Explam the twe phase teehmqee procedure of selve LPP in sunplex methed ~ (05 Marks)
. 4 a Explam the relation between the solutlen ef the primal and the dual - N B (05 Marks)

. Find the dual of the fellomng preblem
- Mimmimize 7 = 2x, +5x3 - '

B -Subjectte X;+x222

2X1+X2+6X3<6
. | X1 X2+3X3-—-~4 o . I | |
X, Xpx320 o - -(OSMarks)_ .

. Explaln the computauenal precedure e“f rewsed 31mplex methecl n standard form (IO Marks) SRR

_ .. 1 _sz_
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PART B

' 5 _ a Use dua.l mmplex method and solve the follnmng LPP

* Minimize Z = 3x; + Xy
Subject to x; + X2 2 1
Xy, X2 2 0 S o Marks)

b Explain the role of duality theory msensnmty analysas (e Marks) - ._ o

Explam how sensmwty analys1s has been apphed I (05 Marks)'_._ -

6 a Ftnd an mitlal solutmn to the f{}llewmg transportatmn problem S '

Desttnatlon :

Demand |
(1 0 Ma rks)

b, The owner of a small machine shop has four machines available to assign for the jobs. Five
. jObS are offered to assign, with the expected proﬁts in hundreds of rupees for each machme

“on ea.ch job bemg as follows B R .
| _ B w0 o JOb .- . s e

asmgnment of Jobs to machlmes that wﬂl result m the max:tmum proﬁt ' (10 Marks)

7 a Solve the follomng game graphlcally S R RS O (@0 Ma'rks).
‘- PlayerB L

I b, .-'Ex;)lam in detail dCGISIO’n making mthout expenmentatton . I (05Marks)

L

Explain in detall the minimum spanning tree problem W1th constramts (06 Marks) o

o

c. Explaln the number of detaﬂs that need to be worked out to ﬁt structure of the problem
R T

Explain the detalls of solving simple games In game theory - (05Marks)

‘Outline the general procedure for generating a child from a pair of pa;rents (06 Marks)_ PR

KC Marks) ERE
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